A Patu-T PR Suit-2.007 PR Suit-2.028 PR
150 150 150

£ £ £

H] H H

o o o

& 100 T & 100 e & 100 [ R,

o o 3

2 2 3

k] k] k]

S 50 3 % 3 %

4 4 4

R R B

T T T T J T T T T J T T T T J
10 100 1000 10000 100000 10 100 1000 10000 100000 10 100 1000 10000 100000
Verapamil [nM] Verapamil [nM] Verapamil [nM]
B Patu-T CTR Patu-T GR
150 150

r - Patu-TCTR r ¥ Patu-TGR

g Patu-T CTR + 5 uM Vera E Patu-T GR + 5 M Vera
@ 100 *—o - —& Patu-T CTR + 10 uM Vera 5 1001 ¥ ¥ ¥ ¥ ¥ ¥ 7 o Patu-TGR+ 10 M Vera
o = e = gl

g A s

= 50 N = 50

[ Q

€ \5\-_‘ <

B —a =

g T T T T 1 T T T T T 1
01 1 10 100 1000 10000 01 1 10 100 1000 10000

Gemcitabine [nM] Gemcitabine [nM]

Fig. S6



